BID TABULATION 27-15JUN06 ADA ACCESSIBILITY UPGRADES FOR POLLING LOCATIONS

			Inclusion Alternativ	Solutions - ve #1	Inclusion Solutions - Alternative #2		Hall Signs, Inc.		Vulcan, Inc.		intab (Independent Tabulation)		
Item #	Description	Qty	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	
4.8.1.	4 ft Portable Folding Wheelchair Ramp	1	\$259.00	\$259.00	\$259.00	\$259.00	No Bid	No Bid	No Bid	No Bid	\$259.95	\$259.95	
4.8.2.	6 ft Portable Folding Wheelchair Ramp	1	\$349.00	\$349.00	\$349.00	\$349.00	No Bid	No Bid	No Bid	No Bid	\$449.95	\$449.95	
4.8.3.	Temporary Access Parking Signs	40	\$39.95	\$1,598.00	\$39.95	\$1,598.00	\$6.30	\$252.00	\$6.06	\$242.40	Included w/ nuts	Included w/ nuts	
4.8.3.1.	Sign Posts	40	\$44.96	\$1,798.40	\$44.96	\$1,798.40	\$9.59	\$383.60	\$9.83	\$393.20	Included w/ nuts	Included w/ nuts	
4.8.3.2.	Bolts	80	\$1.99	\$159.20	\$1.99	\$159.20	\$0.161	\$12.88	\$0.35	\$28.00	Included w/ nuts	Included w/ nuts	
4.8.3.3.	Nuts	80	included with bolts	\$0.00	included with bolts	\$0.00	\$0.06	\$4.80	\$0.04	\$3.20	\$59.95	only bid 40 @ \$239800	
4.8.3.4.	Aluminum Washers	80	included with bolts	\$0.00	included with bolts	\$0.00	\$0.081	\$6.48	\$0.04	\$3.20	Included w/ nuts	Included w/ nuts	
4.8.3.5.	Nylon Washers	80	included with bolts	\$0.00	included with bolts	\$0.00	\$0.081	\$6.48	\$0.06	\$4.80	Included w/ nuts	Included w/ nuts	
4.8.3.6.	Bases	40	\$149.00	\$5,960.00	\$149.00	\$5,960.00	\$44.18	\$1,767.20	No Bid	No Bid	Included w/ nuts	Included w/ nuts	
4.8.4.	Cones	80	\$8.98	\$718.40	\$8.98	\$718.40	\$6.33	\$506.40	\$6.79	\$543.20	\$9.99	\$799.20	
4.8.5.	Portable Access Rubber Matting	4	\$647.50	\$2,590.00	\$329.00	\$1,316.00	No Bid	No Bid	No Bid	No Bid	\$119.95	\$479.80	
4.8.6.	Door Grip Accessible Handles	6	\$4.92	\$29.52	\$11.99	\$71.94	No Bid	No Bid	No Bid	No Bid	\$3.995	Bid 10 @ 39.95	
4.8.7.	Threshold Ramps	6	\$86.45	\$518.70	\$86.45	\$518.70	No Bid	No Bid	No Bid	No Bid	\$65.95	\$395.70	
4.8.	GRAND TOTAL		V. O. T	\$13,980.22	\$12,748.64		\$2,939.84		\$1,218.00		V. O.	\$4,822.55	
4.9.	Deviations?		· ·			Bid Response		Yes - See Bid		Yes - See Bid Response		Yes - See Bid Response	
4.11.	COOP?		Yes		Yes		No		Yes	Yes Yes		es	

BID TABULATION 27-15JUN06 ADA ACCESSIBILITY UPGRADES FOR POLLING LOCATIONS

Inclusion Solutions - Alternative #1			Inclusion Solutions - Alternative #2		Hall Signs, Inc.		Vulcan, Inc.		intab (Independent Tabulation)			
Itom #	Description	Otv	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total
	Delivery ARO?	Qty	14 Days						30-45 Days		15-20 days	

<u>No Bids</u>

Industrial Technologies

				ıdre Sign	Custom	Products Corp	Newman Sign Inc.		
				lure sign	Custoin		Newman Sign Inc.		
Item #	Description	Qty	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	
4.8.1.	4 ft Portable Folding Wheelchair Ramp	1	No Bid						
4.8.2.	6 ft Portable Folding Wheelchair Ramp	1	No Bid						
4.8.3.	Temporary Access Parking Signs	40	\$14.55	\$582.00	\$7.33	\$293.20	\$8.40	\$336.00	
4.8.3.1.	Sign Posts	40	\$10.50	\$420.00	No Bid	No Bid	\$14.30	\$572.00	
4.8.3.2.	Bolts	80	No Bid	No Bid	No Bid	No Bid	\$0.25	\$10.00	
4.8.3.3.	Nuts	80	No Bid	No Bid	No Bid	No Bid	\$0.10	\$8.00	
4.8.3.4.	Aluminum Washers	80	No Bid	No Bid	No Bid	No Bid	\$0.10	\$8.00	
4.8.3.5.	Nylon Washers	80	No Bid	No Bid	No Bid	No Bid	\$0.10	\$8.00	
4.8.3.6.	Bases	40	No Bid	No Bid	No Bid	No Bid	\$54.20	\$2,168.00	
4.8.4.	Cones	80	\$11.05	\$884.00	\$5.41	\$432.80	\$5.78	\$462.40	
4.8.5.	Portable Access Rubber Matting	4	No Bid						
4.8.6. 4.8.7.	Door Grip Accessible Handles Threshold Ramps	6	No Bid No Bid						
4.8.	GRAND TOTAL			\$1,886.00		\$726.00		\$3,572.40	
4.9.	Deviations?		None identified		None identified		None identified		
4.11.	COOP?		Yes		Yes		No		

			An	dre Sign	Custom 1	Products Corp	Newman Sign Inc.		
Item #	Description	Qty	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	
4.12.	Delivery ARO?		7-14 Days		15-25 Days		21-30 Days		

<u>No Bids</u>

Industrial Technologies